
IMPORTANT! Please keep these instructions for future reference. Please read 
these instructions before assembly and use of this product.
• Adult assembly is required.
• Allen wrench (included) required for assembly.
• 
• 
Product features and decorations may vary from illustrations.
Do not use power drills or drivers.

Bulletin NO.:185004-01

C



A. Mattress support
B.Headboard

C.Left Side D.Right Side

E.Footboard 

F.Stabilizer Bar

Part Lists

2



Part Lists

3

I

J

K

2-3/8”Allen head Bolt X 4

1-3/4”Allen head Bolt X 14

5/8 X 4

X 4

X 1

G

H

1”Allen head Bolt X 8M

L X 8End Cap



4



5

BACK PAGE



NEVER PLACE ADDITIONAL PADDING UNDER INFANT.

6

 

IF REFINISHING, USE A NON-TOXIC FINISH SPECIFIED FOR CHILDREN'S PRODUCTS.

BIVONA & COMPANY 125 JACKSON AVENUE SUITE 1,EDISON, NJ 08837



Assembly step 1 

7

K

H 1-3/4”Allen head Bolt x6

B.Headboard
   C.Left Side          D.Right Side

X 1

H

B

C

D

H

H

H



Assembly step 2 

8

J

G

K

X 4

X 4 X 1

F. Stabilizer Bar

2-3/8

G

G

G

G

F

J

J



Assembly step 3 

9

A. Mattress support

K X 1

I 5/8 X 4

I K

A

Assembly Instruction

AI

I

I



Assembly step 4 

10

E.Footboard 

K1-3/4”Allen head Bolt X 8 X 1H

H

H

H

H

H

E

H

H

H



11

 

H

H

H

H

H

H

E

A

A
H

H

H

H

Note: You will need to fill the holes in
 the side Posts as shown in figure 
using 1" Allen head Bolt (M) & End Cap (L).

You also can attach a one piece
Guardrail(sold separately) to the
crib as shown in figure.

Step 1: Remove  Footboard

Note: You will need to fill the holes in
 the side Posts as shown in figure 
using 1" Allen head Bolt (M) & End Cap (L).



12

You can attach HEADBOARD &FOOTBOARD to a fullsize  bed rail
(NOT INCLUDED)  to convert to a full size bed.

with a thickness not exceeding 6 in. and the minimum mattress thickness of 
4 in.

You need to fill the holes in the 
Headboard Post as shown in figure
using 1”Allen head Bolt(M)&End Cap(L).  

Fullsize Bed Rail

Footboard

Headboard



Most inquiries can be answered by visiting our website www.bivonaco.com
There, you can order parts, find assembly instructions, and get answers 
to frequently asked questions on all of our brands.

You can also email us at info@bivonaco.com
In order for us to provide you with the best service possible, please include the 
following information in your email:
1. Your Name
2. Address
3. Phone Number
4. Item Number and description of your product 
5. PO#
6. Production Date
 All product information will be on the product label located on the back of 
all dressers and other furniture, and on either the inside bottom of the headboard, crib
ends, or stabilizer bar of your crib, depending on which model you have.

Someone will contact you via e-mail or phone to help you with your issues.

If you do not have internet access, you can fax your information to 732-527-0664

If you do not have internet or fax access, please call us at our toll free number 1-888-963-8125.
Be sure to have all of the above information ready to give to your Customer Service Specialist.

13

Manufactured for and distributed by Bivona & Company, LLC
125 Jackson Avenue Suite 1,Edison, NJ 08837

MADE IN VIETNAM

C




